Answers to 4th Class Work

of l1lth - 15th January 2021

Monday
Maths
Tables: write the 3x tables in your copy.
3x0=3
3x1=1
3x2= 6 etc.

Counting forward: 3,6,9,12,15,18,21,24,27,30,33,36

Counting: 10,20,30,40,50,60,70,80,90,100
50,100,150,200,250,300,350,400,450,500

Time:
60 mins= an hour 180mins=3 hours
30min = half an hour 7 days = a week

Sums: (going across

1. 7225 2.626 3.576 4.18,494
6. 6524 7.15833 8. 14907 9. 8332
11.8232 12. 1185 13.4110 14. 552
16. 4753 17.13162 18. 8996 19. 1327
Problem: 1888
- 550
1338
Literacy

Cloze procedure answers:

5.590

10. 2473
15. 8204
20. 2296



All About Giraffes Answers

Giraffes are the tallest living animal in the world. They can grow up to about
5 metres tall. That is about as tall as a doubledecker bus!

Giraffes live in the grasslands of Africa. When they were first discovered,
people thought they were a cross between a leopard and a camel.

Their long necks mean they can reach the leaves in the tallest part of the
trees, where the other animals cannot reach. They like the leaves on the
acacia tree most. They spend most of the day eating.

Giraffes can run at speeds of 35mph but only for a short time. They can
sleep standing up but usually sleep sitting down with their feet tucked under

them.

Amazing Fact

In the wild, giraffes eat up to 34kg of leaves and plants every day and spend 16-20 hours a
day eating!

Bonus

Metre is the British English spelling while mefer is the American English spelling but they
both mean the same thing.

SESE Rivers of Ireland:

Rivers: Boyne, Liffey, Slaney,Barrow, Nore, Suir, Blackwater, Shannon, Suck, Moy,
The sea off the coast of Dublin is the Irish Sea.
The Atlantic and the Celtic sea are also on the map.

The River Liffey is in the province of Leinster.
The River Nore is between the River Barrow and the River Suir.
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The River Liffey begins in the Wicklow Mountains.
2. The River Liffey flows through Wicklow, Kildare and Dublin.
3. The Rlver Liffey enters the Irish Sea.

Alphabetical order of rivers:
Bann, Barrow, Blackwater, Boyne, Corrib, Erne, Foyle, Lagan, Lee, Liffey, Moy, Nore, Slaney,
Suir, Swilly



Tuesday

Maths
Tables: Write out the x4 tables using your journal or head, up as far as x12
Eg. 4x0=0
4x1=4
4x2=8
Counting: 20,40,60,80,100.... 100,80,60,40,20
5,10,15,20,25,30,35,40,45,50,55,60,65,70,75,80,85,90,95,100
Questions:
7x8=56 5x3=15 11x8=88 3x3=9 4x8=32 9x6=54
0x8=0 3x6=18

Multiplying x10
40 60 90 0 200 100 500

2D shapes:

Square Circle Triangle Pentagon

Subtraction:
1. 3953 2.2449 3.710 4.1433 5.3092
6.2662 7.3238 8. 5555 9.2164 10. 818

Problem: 8000ml
- 4350ml
3650ml of white paint

Literacy

Email a picture of your Animal Report to your teacher for correction.



Wednesday

Maths

Counting: 12,24,36,48,60,72,84,96,108,120,132,144
Counting up in 100’s: 100,200,300,400,500,600,700,800,900,1000

a) 3kg=3000g b) 1kg=1000g, c) 1'2kg= 1500g, d) 4 V4 kg=4250g e) Skg= 5000g f) 2
Y2 kg=2500g g) 3 ¥4 kg=3750g

Times on each clock: a) Ten past nine b) Twenty past six c¢) Five to twelve

Multiplication answers:
a) 55x14=770 b) 93 x 35=3255 c)44x77=3388 d) 62x63=3906

b) 938x30= 28,140 b) 582x32= 18,624 c) 667x27=18,009 d) 116x84= 9,744 e)
657x68= 44,676

Worded Problem answer: a) 35x15= 525 b) 35x40= 1,400

Literacy

Seahorses Answers
1. Seahorses eat tiny plankton and shrimp.
2. Seahorses hide in seaweed as it is a similar colour to them so they are camouflaged
making it difficult for predators to see.
3. Predators means other animals that want to eat seahorses.
4. Question of your choice.

Thursday
Maths
Tables: x6 up as far as x12 using your journal / head.
Eg. 0x6=0
Ix6=6
2x6=12
3x6=18

Missing numbers:
1. 2,4,6,8,10,12 2.11,14,17,20,23,26

3. (there was a mistake in this one)



55,51,47,43,40

Rounding:
1200= 1000 3400=3000 3600=4000 6700=7000 3250=3000
6770=7000 6900=7000 8720=9000

Time:

a) 11:00 b) twenty to seven or 6:40  ¢) 10:00 d) twenty past 7 or 7:20
Division:

1. 37r1  2.17 3.13r3 4.1513 5.59 6.33 7.74 8.86 9.56
Problem:

70 _parking meters
£3£210

Literacy

Great Galapagos Answers

1. Charles Darwin discovered most of the animals on the Galapagos.

2. The most remarkable animal on the islands is the giant tortoise. Hundreds of them can
be seen on the beach . (or a similar summary in 20 words or less)

3. He uses adjectives like astounded, remarkable, impressive and incredible to describe
the islands making them sound very special.

4. Penguins, iguanas, sea lions and green turtles are just some of the other animals that
live on the Galapagos islands.

Friday

Maths:

Give yourself a score on your tables after quizzing yourself on timestables.co.uk

1. No she couldn’t be counting in 10s because she started at 50, the unit is 0 and she

reached 95 and the unit is 5 therefore she could’ve been skip counting in 5s.

2. Coling could’ve been counting in 2s if he went from 74 to 86 because the units 4 and
8 are both factors of 2.

3. Oscar would have reached 50 by counting in 5s from 30 because 5 divides into 50
evenly but also counting from 30 evenly it would bring you up to 50.

Sums:
1. 5243 2.6334 3.2017 4. 7308 5.9094
6. 10016 7.17931 8. 5658 9.727 10. 1673



Problem:

1. £782 2.71 3. 247
-£466 x2 3741
£316 142
Literacy

Complete the sentences.
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She broke a limb when she fell off the wall.

I tried to coax the cat down from the tree with a saucer of milk.

Grandad gets tired after lunch so he takes a nap.

Mum always says thanks when Mark does an errand.

Anne was so weary after that long hike that she had to lie down.

Dad said he would attach a bell to Amy’s new bike.

I didn’t recognise William when he jumped out behind me in a Monster Mask.

The aliens looked unearthly with their three eyes and their antennae!



